@ A light ray is incident with an angle of incidence 40° on the boundary surface between
o glass of refractive index 1.5 and air, so which of the following figures represents the path
of the ray?
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%) Which of the following graphs represents the relation between the sine of the critical
' angle (sin § ) of a medium surrounded by air and the wavelength ()) of the incident light
in this medium?
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5 The opposite figure shows the

occurrence of mirage, hence the

correct order of refractive indices

of air layers is .............
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